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Mkt Cruestion No. 1 ix compulsory,

1 -

2. Out of remuining questions, attempt any fhree ffuestions.

3. Assume suitable additional data if required.

4. Figures in braclkets on the right Jmud .-ml: indicate full marks.

Q.. A Stats the theee uxioms of probahility,
By Stare Central fimit thearem ond give its sipnificance

(L) Btale varions properties of antceorrelution finetion und ]-rnvmr specten] density
fugciion.

(T Thefine and explain Moment Generaring Finuiion.

Q2 (AY Inacommunication system & wero istransmitted with pmb&blluh 14 and a ene
is transmitted with probabiliy 0.0, Dus o wiise i the channel a #6ro can be
received a3 one with probabilivy 0.1 andas 3 zer with probability 9.9 similacly
o can he res tt'r-:zd as zmera with pnrhahlllwﬂl ! and ass one with probahil iy
L9, If one is obscry ed_ wihat is the pmtmhﬂm TI:iqt Azeriyakas transmitled ¥

(HI A random variable s Liztwfﬂltw.-uuz uw:ptmcn'rm! pm‘mhrht'lr density Tunetian:
Flxh=Ke™ | Determing the Valug of & and the carresponding distribution
figsetion. S

03, (&) A dlﬁ‘m!:muuu "m unfmcuwja medn ﬁen-:t varianoe 1.5 Using Central Limit
Thedrent Aind the i {rf'tﬁﬁ SnmE:HL sush-rhl dhe probabilicy that differepce
ohebwetn sampie trican dnd ihie; |:-H|JJ.l|Ilirf"1!1 tiéan will he less than 0.5 is (.45

““3:' T?{lﬂﬁill Sf-r':'-l'lﬂ law f‘lf‘Eary: numl‘:—-e:r.w_. and weak frw of large numbers,
(Chr 1 E—-J;" ', detebuine f7),

.

;-'f;]*.:i;-_.lrt,l,h Ehpmm pawer apl:t.!-r.raJ de:km} Tunction, State its mnpartant prapertics and

Friv e By f-r-.-'u- althe properts,

(B Explain (ip MG Clueiing syatem.
L) MRS L Queuing system,

() Write shout métes v the fallowing special distributions.
1} Poisspn distribution
e 1) Gavsalan diseribution.

0.5 (A) State and-prove Ch apman-Kolmogaroy eguation,

(B} A statonary process is givenby X (0} =10 cos [ 100 £ + #] where iz a randon
wariable with uniform probability disteibution in the interval = 11AT3-
show thal it 15 a wide sense stationary prucess.
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[Time: 3 Hours] . [ Marks:80]

Pleaze check whelhor you have got the Fight question pager.

MBI Question neslis compulsary
2. Solve any three questions out of remaining questions.
3 3. Figures to the right indicate full marks, ,
4. Assume suitabio ddta where necessany.
Q.1 a) feplaln the concepts at Cortex-4, Cortex-R and Cortex-ht, . 0s
b) Compare instructions ACALL and LCALL of 8051, 03
] Whal is signiticance of RESET in micracontroller? Howto infplement manual and 05
, L power on reset (7 80517
d} Explain feature=z of ARM 7 05
0.2 aj Explain memory management mechanism in ARM 7, . 10
by Explair PORT 1 structure of 8051, . 10
0.3 a) Write an assembly language program for 80591 1o ar:a‘ng;z sarigf of tand bit numbers in i0

ascending order. Series stagts from mem oy address Eﬂﬂuﬁ anwards.
b) Interface DAC 0OBOS ta EEIEI Flﬂ"I '.'urlt& ;Js:‘emhll,.l:pmgmm 1o .EF‘ﬂEI’EItE triangular wavefarm. il

h
s

.4 a] Design 8051 based system with fl::-lam-.-'lrag :d:u:clﬁcaﬁunif 10
i) BOS1 is working at 19 mHz . 0 A,
ii] & KB External Program mamory using 4 K5 Lhips :
) 16 KB Extérnal Data memory using & %E chips

b] Explarlmpe mfm;mnﬂes of ARM 7. C 10

Q.5 a) Explain characteristics of Emlaedduﬂ System with examples, 05

* ' b] Exptzin Sreﬁ'permﬂtur mutrullaraﬁ Embtdded System. 05

el L:-l.’pla'ln sddressing mades of .l{ﬂM ¥ 10

0. ETE-%.}-'EH.plalrt'interrupt Steticturs of 8051, 10

25 by interfacs HED L BO51 and write assembly language program to display message "HELLO® an 10
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[3 Hours) Marks: 0

[1] Huestion No. 1 is compulsory.

(2] fnlve any three gquestions from the remaining five,

131 Plpsres to the ripht indicate full marks

3] Aszume sultable data if nevessare and menton the saoe in answer sheet,

Aemptany four out of the remaining Gve [ 2T
a] kxplain hivgarls of clectromagnehe mulialien

2] Lapuain how Rickard’s lransformaton-and asitelemenls are usefilin 7E
filtar Cesigning, i
o] Explain near field, inductive fzld and radintion field related to antenna,

) Explain pattern multiplication far ansenna arcay.

o) What are characteristics of Horn antenna 2

&} [resign a luw pass compesite filler with cut-off fregueney 3 Mz and [ L] —
inpoedance of 75 L Flace infinite atenuation pole st 3.08 MHz

b} Explain with equivaleat cirenits the BF behiviour ot resistor, eapacitorand  [10]
induckeor,

a) Desipn a maximally Qatlow passtitter with a cul-off frequency of 2 GHz, [1e]
Ipedance of 50 1, and at |Gz, 15 dB insertion logs ar 3GHe,
] Explain in detall dipole aptenna. Compare dipole, mono pobe and tolded [107]

dipnla anbamas,
i) Derive radiation reststance of infinitssimal dipole, [10]
h] Find tiae radiaten pattern of dn array of 2 isotropic point sorees fed with [1a]

samie dnplitude and opposite pluse and spaced 342 apart, Finl its LPSW
and FMEW,

a) Bxplain werking principle of Yagi-13da antemia and draw its radiation [10]
pactarn. Menlivn itsapplicatioms,
b} Dravs the shructure of microstrip antenna. Disowss its characteristics, [10]

Hmitations and applications.

Write short notes an the following [20]
a) Friss trangmizsion formula

B Loz periadic gntenna

] Halieal antens

) Principle of parabelle reflector antenma
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L1 Schee any four

PLLF M ciemodulator

it —law and A-law companding

Vestigisl sideband woot broadoest televissan
Frequency divisin duplexing (73]

Pra ernphzsis and de-emphasis circuit
Rilpsing erqor and apsriore effect
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Q.P. Code :25244
[Tirne: Three Hours] [ Marks:80]
Please check whether you have gol the right question paper,
W.B: L. Question Mol is compulicng.
2, Attemptany theee guestionz out of remaming thee,
3. Flgures tethe right indiczte full marks.
2. Assume-suitable data if zequired and meantian the same in gnswer sheet,
20
2l Zaplain the Tunction of AFC loop in PR,
bi What doyou mean by double spoting?
ch o Winat s quantTeation? Exolain bypes of guantization,
4] Why IF is zelected & 455 KHz in AR4?
e} Dafine nois= figuse and noise factor,
il Draw the biock dlagram of phase canceilation 558 generator and explain how carrler and-unwantad 10
sidebands arp suppressed?
bi An AM transmitter radistes5 MH2 carrie b with S0KW pawer; carfieris modulated by BI0N7 and 2 €Hz 10
signals,
1. Wrat will be the total.madulation indew if gach mgul m-;::r.lulﬁtq:s.-at ED% af modulation
1. Delermine the transmilted g powar,
1. Draw the frequency spectrom af mudunh,,d iprial,
A \what bs % of power saving Hf ene of the sideband and cherier is. suppressad?
4} Explain the coerition of Fostar Sedl ey discriminator with the help of circuit diagram and phasor 1]
diagram,
bl Explain the principie and generation.of indirect mathod of FM generation. ia
2l What are the drawiacks of delta madulation? Explain the method to overcome these drawbacks. 10
B} - State and prowe ﬁamgling thearem for bard limited signal, 10
“&) Esplain super heterodyne radio receiver indetaif with Black diagram 10
; B Explain the princple and warking of teansistor diract PA Modulalor 10
Q.6 Writeshort notes oh: {any four) 20
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{3 Hoors) [Toral Marks: 8|

Question Mo, | is compulenry.

Sulve any three guestions from the remaining five

Figures te the vight indicate full marks,

Assume suitable dabs i pecessary aond pention the smme ioanswer sheet.

AdtemH any 4 questions: [21]
Give any five features of 10 5535,
Flowe does precision rectifier ditfer from conventionul reclilier?
bia Tig. MOy using multiplizr 1C-ADS 34, show that the sutpul villuge is
(= FT) _—
i".:'.--=—{ SRl ; A
: 10 ff’ -
L% ol
= B kD b
- _'.-'I H &,
. N e kG ;
DA e '%_1—0-
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| ’
Fig. 100}
Dreaow o neat circuin diagesm and input-curput wavetorms of an imverting Schmill
ripeer. Give the expressions [or 155 theeshiold levels
iFrthe inpud 2o e ideal comparator siown urihe Fig. TEL 58 sinvzaidal signal
ol & vl pedic to peul without any DC compenent. then ehigck whethar the duty
gvele uf the oulpol Bf comparator w333 3% o 25% or 20%, Prove 1L
Input l-—I _,_“--,_\_
HH“-..
e 1 Gt
&
Yrat= 24 — - ___.-""f
.-".-.
Fiz, 1R
With the help oFa neatcircuil diapram explom any vme apphcatiim of FLL 385, RLIE
Mesten o squure wave generafor using B 553 S an- output freguency of 50| Ty
=Hz and anadjustable dury eycle of Tk fo 90
Diraves a neant-ciren it digpran of a Wein bridee ascillaton uzsing op-amp, Derivzits - [ L
trequency of oscillation. Whor are the wvalues of & oand 7 Tor fregquency ol
cscillation W b FOPLELE?
Drerw @ et crcuit of voltage o surrent converler with Ooating lood and derve |10

the enpression o i owlpud current;
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Diesiun g Secund drdey Butterseerth mon-y velting high pass filer 1o provide i (14
cit-oft frequency of 5 KHz wnd PaEs hend i IEREEE

Design a counter for “ounting & sequenes i o s ) 5050 using MY 745 [ 10]
W2 The pin fermimalogy and funstionality c."“’-}:[‘g;‘.f'-?fil-_[ﬁ,’l s griven in [ig, 408,
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With the help of fui']c-'fj:uﬁﬁj' rlack _cif".z@m'nl'_c;-.;pﬁaim the workiha of voltiage [ 1))

tegulater LM3 LT ta give an cufpult volfaze variabledrim 'S Voo 10 V 1o handle

maxiinum load cuprenr of 3 mA. AR, o

What is an instrumentagion A plifice? Deqw 15 neal dfecuit using three v [

amps. Dhgigi F‘i'l.s_[uu;u;eﬁl_rﬁiﬁn_.:impliﬂdrdi::r-mﬁﬂéi-é gain ot 0.5 1o 100,

Write shory natés o {.e"!!.ltql-tll:l,p't amy twi) ; : (243

Current fold “hack protecrion in Sy '

Sample anid Flold Circair, _-
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